Term
Term1
Num=1
Z=50 Ohm

‘ 5 ‘ S-PARAMETERS I [ sweeppian | Matlab Output
MSub SMT_Pad ] VAR
VAR2 SweepPlan MatlabOutput
MSUB SMT_Pad SMT_Pad W_50=1.457170 mm SwpPlan1 MatlabOutput1
MSub1 Pad1 Pad2 SweepPlan="SwpPlan1" Start=0 Stop=5e9 Step=1e6 Lin= FileName="Z:\ThomasAmplifiermat"
H=40 mil W=0.9 mm W=0.9 mm - Start=1 Stop=5e9 Dec=100 Log= Analysis=All
Er=6.15 L=0.8 mm L=0.8 mm dn | VAR | AC UseSweepPlan= UseCustomControl=no
Mur=1 PadLayer="bond:drawing" PadLayer="bond:drawing" SRC1 SweepPlan= FilterExpression=""
Cond=5.8E+7 SMO=0.125 mm SMO0=0.125 mm lac=1 Reverse=no
Hu=1.0e+033 mm SM_Layer="solder_mask:drawing" SM_Layer="solder_mask:drawing" AC Freq=freq
T=35um PO=0.4 mm PO=0.4 mm SweepPlan="SwpPlan® ol
TanD=0.003
Rough=0 mm
Bbase=
Dpeaks= MTAPER MTAPER
Taper5 Taper2 ’hJ/Ié\N g\éoc
MLOC Subst="MSUbT" Subs Subst="MSub1" Subst="MSub1"
sI W=W_50 W=W_50
C_Pad1 Subst="MSub1" MTAPER MTAPER 9m =11, e
MLIN ca oW 50 MLIN Tapert Tapers 1.4 mm 35 mm { L=6.29 mm
InputConnector  C=5.6 pF L=7.660004275 mm 2 . . Subst="MSub1"  Subst="MSub1" | out
Subst="MSub1"  W=W_50 Subst="MSub1"  W1=W_50 W1=0.9 mm ol ] T
W=W_50 S=1mm W=W_50 W2=0.9 mm W2=0.9 mm bip520 MCROSO MLIN
in  L=10mm L1=3 mm L=378mm{t}  L=1.4mm L=0.8 mm BFP 2 VLN OutputConnector
. )| [ [ — - SMT_Pad1="Pad1" LambdaOverTwoLine1 Subst="MSub1"
SMT_Pad2="Pad2" Subst="MSub1" W=W_50 =
- WEROSO MLIN OFFSET=0 W=1457170 mm L=10mm =
ros i VIAGND L=16.167791 mm {-
V31 Subst="MSub1" ;i’;;‘i?ﬁéi’g:{f’ Line2 V22 VIAGND o
Subst="MSub1" W=W_50 Subst="MSub1"
= D=0.8 mm L=16.13 mm {-t} D=0.8 mm
T=0.00375 mm T=0.00375 mm
1
1.0 == Rho=1.0
1.25mm W=1.25 mm VTAPER VIAGND
Taperd V1o
- . Subst="MSub1"
Subst="MSub1 D=0.8 mm
_ T=0.00375 mm
MTAPER Rho=1.0
Taper3 T W=W_50
Subst="MSub1" e -
R_Pad1
R11 S °
R=680 Ohm L1
W=1.25mm
MTAPER S=1mm
- Taper? L1=3mm
L1=2.
3mM | Subst="MSub1"
W1=1.25 mm
W2=0.8 mm
L=1.4 mm
L d
R_Pad1 R_Pad1 MTEE R_Pad1
R9 R14 Tee6 R10 z'ZAGND
R=2540 Ohm R=2540 Ohm ~ Subst="MSub1"  R=2000 Ohm . . | \
W=125mm W=125mm  WIs125mm  w=i2smm  SUbSTMSubt il / J
S=1mm S=1mm W2=1.25mm  S=1mm iy bog";?') v_DC R_padi C_Padl  yjaGND
L1=3 mm L1=3 mm W3=1.25mm  L1=3mm - mm Vdd1 R13 c5 V18
Rho=1.0 ! R=0 Ohm C=5.6 pF .
C Vde=2.5V _ -6 PF  subst="MSub1"
W=1.25 mm W=1.25 mm W=1.25mm p=0.8 mm
$=1mm S=tmm  1-04
123 mm Sidnm | T=0.00875 mm

Rho=1.0

Term
Term2
Num=2
Z=50 Ohm



